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1.

(A) (B) 
(C) (D) 

2.

(A) 36, 17 (B) 48, 21
(C) 56, 25 (D) 68, 31

3.

4, ?, 144, 400, 900, 1764
(A) 25 (B) 36
(C) 49 (D) 100

4. &
&

&
__zy__zxy__yxzx__zyx__xy
(A) yxzyz (B) zxyzy
(C) yzxyx (D) xyzzy

5. A , B ×, C 
–, D +, 

24 A 12 B 4 D 6 C 7
(A) 7 (B) 8
(C) 9 (D) 10

6.
1 6 4
? 2 8
5 9 3

35 108 96
(A) 9 (B) 7
(C) 5 (D) 3

7.
 

+ + + + + + ?

+ + + ++ + + + + + + + + + +

(A) (B) (C) (D)

8.

(A)
(B)

(C)

(D)

9.

(A) (B) 

(C)  (D) 

10. &

AB
 

A

B

 

(A) (B) (C) (D)

11.

(A) 12 (B) 20
(C) 21 (D) 9

12. ‘GRIPS" 
‘71891619" ‘FRAME" 
‘6181135" 
‘JEANS" 
(A) 10411491 (B) 10511419
(B) 15114901 (D) 15011491

13. F, G, H, J, K L 

L K 
F K G J,

H G, F 
F 

(A) (B) 
(C) (D)

14. -

(A) (B)

(C) (D)

15.

(A) (B)

(C) (D)
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16.

(A) (B)

(C) (D)

17.

I. Creditor II. Creature
III. Credible IV. Creditable
V. Credentials
(A) III, V, I, IV, II (B) II, V, III, IV, I
(C) II, V, I, III, IV (D) II, V, IV, III, I

18.

I.
II.
III.
IV.
V.
(A) III, V, I, IV, II (B) V, III, I, IV, II
(C) V, III, IV, I, II (D) III, V, IV, I, II

19. -
4, 5, 6, 7,

8 9 -
‘9' 

(A) 4 (B) 7
(C) 8 (D) 6

20. ‘DICTIONARY'
‘20' 

‘MOBILITY' ‘16' 

‘TERMINATION' 

(A) 20 (B)  24

(C) 18 (D) 22

21.
(A)
(B)
(C)
(D)

22.

1. a. 
2. b. 
3. c. 
(A) 1-c, 2-b, 3-a (B) 1-b, 2-c, 3-a
(C) 1-a, 2-b, 3-c (D) 1-a, 2-c, 3-b

23. .........
(A)
(B)
(C)
(D)

24.

(A)
(B)
(C)
(D)

25.

(A) (B)
(C) (D)

26.

(A) (B)
(C) (D)

27. ......... 

(A) (B)
(C) (D)

28.

(A)
(B)
(C)
(D)

29 -

(A) (B)
(C) (D)

30.

(A) (B)
(C) (D)

31. ( ) 

(A)
(B)
(C)
(D)

32.

(A)
(B)
(C)
(D)

33.
(A) (B)
(C) (D)

34.

(A) (B)
(C) (D)

35.
(A) (B)
(C) (D)

36.

(A) U (B) V
(C) X (D) W

37.
/ 

(A)
(B)
(C)
(D)

38.

(A) (B)
(C) (D)

39.

(A) 1740 (B) 1765
(C) 1732 (D) 1756
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40.

(A) (B)
(C) (D)

41. 36 
3 105 

(A) 13 (B)
9

11

(C)
7

35 (D)
4

35
42.  `225 

` 15 
` 300 

(A) 15% (B) 20%
(C) 25% (D) 30%

43. ` 750 
4/3 %

(A) 10% (B) 15%
(C) 22% (D) 25%

44. A 90% = B 30%, B : A 
(A) 3 : 1 (B) 6 : 1
(C) 8 : 1 (D) 9 : 1

45. 80% 
85% 75%

40 

(A) 400 (B) 200
(C) 600 (D) 800

46. A, B, C 10 12 
15 A B

4 
C 

(A) 5 (B) 3 
(C) 4 (D) 6 

47. 12 5

(A) 10 (B) 11 
(C) 12 (D) 13 

48. 16.8

( = 3.143
(A) 24.46 (B) 24.64 
(C) 26.44 (D) 26.24 

49. &
` 650 ` 676

(A) ` 600 (B) ` 620
(C) ` 625 (D) ` 630

50. 30 
2 

1 

(A) 5 (B) 6
(C) 6.25 (D) 7.5

51. 0.25 2.25  

(A) 0.075 (B) 0.705
(C) 0.750 (D)  7.500

52. 45 25 
38 20 
32 

(A) 33 (B) 34.25 
(C) 35.33 (D) 36.43 

53. 5 10
50 5 9

54 
10

(A) 20 (B) 30
(C) 45 (D) 50

54.
8 : 5 
260 
(A) 104 (B) 96 
(C) 72 (D) 80 

55. 200 1000 
50 

250 2000 

(A) 20 (B) 125
(C) 250 (D) 1250

56. 2 3 2 9 5 5 4
3 2 3 15 4 2 5

       
  

2 3 3 4 3
5 4 4 3 4
     
  

(A)
4

25 (B)
18

125

(C)
40
9 (D)

20
9

57. A B 8 : 9 
9 19 : 21 
C, B 3 C 

(A) 51 (B) 52

(C) 49 (D) 48

58. A, B C 5 : 3 : 8 
30 

A B 20 
C 

(A) 32 (B) 30 

(C) 40 (D) 36 

59. a : b = 2 : 5, c : b = 3 : 4 a : b : c

(A) 8 : 20 :15 (B) 2 : 5 : 3

(C) 6 : 15 :20 (D) 2 : 5 : 4

60. ` 8,100 1
1
4  8

5-
(` 1 

(A) ` 837 (B) ` 842

(C) ` 873 (D) ` 824

61.
(A) (B)
(C) (D)

62 63 

62.

(A) (B)
(C) (D)

63.

(A) (B)
(C) (D)

  64. 
(A) (B)
(C) (D)

65.
(A) (B)
(C) (D)



4   |   

  66. 

(A) (B)

(C) (D)
67.

(A) (B)
(C) (D)

68 69 

68.
(A) (B)

(C) (D)
69.

(A) (B)
(C) (D)

70.

(A)
(B)

(C)
(D)

71.
(A)

(B)
(C)

(D)

72 74 

72. (A)

(B)
(C)

(D)
73. (A)

(B)
(C)
(D)

74. (A)

(B)
(C)

(D)

75 79

......(1)

........(2)
........(3)

.....(4) 

14
7.6

3.25

......(5)

75. (1)

(A) (B)
(C) (D)

76. (2)

(A) (B)
(C) (D)

77. (3)

(A) (B)
(C) (D) B C

78. (4)

(A) (B)
(C) (D)

79. (5)

(A) (B)
(C) (D)

80.

(A)
(B)
(C)
(D)

English
61. Identify the segment in the sentence

which contains the grammatical error.
Sakshi discussed about the problem with
her manager very briefly.
(A) with her manager
(B) about the problem
(C) Sakshi discussed
(D) very briefly

62. Select the most appropriate option to
fill in the blank and make a grammatically
correct sentence.
Tourism has been _____ in India for a
long time.
(A) postponed (B) declined
(C) decayed (D) neglected

63. Select the most appropriate antonym of
the word :
Slander
(A) Appeal (B) Malign
(C) Admire (D) Defame

64. Select the most appropriate synonym of
the given word
Mock
(A) Cheer (B) Taunt
(C) Praise (D) Amuse

65. Select the correctly spelt word.
(A) Rupangence (B) Repugnance
(C) Repungance (D) Repungence

66. Select the most appropriate word for the
given group of words.
A set of 52 playing cards
(A) Bundle (B) Parcel
(C) Pack (D) Packet

67. Select the most appropriate meaning of
the given idiom
Shot in the dark
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(A) To shoot someone at night
(B) To guess something
(C) To be unaware
(D) To lie about something

68. Identify the segment in the sentence
which contains the grammatical error.
Rakesh was studied when his friends
called him.
(A) studied when (B) his friends
(C) called him (D) Rakesh was

69. Select the most appropriate option
to substitute the underlined segment
in the given sentence. If there is no
need to substitute it, select No improve-
ment.
The teacher expected the students had
finishing the project on time.
(A) finishing
(B) No improvement
(C) to finish
(D) finish

70. Select the most appropriate meaning of
the given idiom
Feel a bit under the weather
(A) To be unappreciated
(B) To feel sick or unhealthy
(C) To be happy
(D) To be calm and patient

71. Identify the segment in the sentence
which contains the grammatical error.
Virat Kohli is one of the best batsmen
that the world have seen.
(A) Virat Kohli is
(B) one of the best
(C) world have seen
(D) batsmen that the

72. Select the most appropriate option to
substitute the underlined segment in the
given sentence. If there is no need to
substitute it, select No improvement.
Shashi couldn't walk no more.
(A) more farther
(B) any farther
(C) far more
(D) No improvement

73. Select the most appropriate option to
fill in the blank and make a grammatically
correct sentence.
Meena had a whale ______ a time in
Mussoorie with her gang.
(A) in (B) of
(C) on (D) at

74. Select the most appropriate option to
fill in the blank and make a grammatically
correct sentence.
In the age of technology, sending letters
by postal mail seems __________ to me.

(A) superstition (B) surplus
(C) supercilious (D) superfluous

Direction (Question No. 75 to 79)
In the following passage some words have
been deleted. Fill in the blanks with the help
of the alternatives given. Select the most
appropriate option for each blank.

Scientists have found that rubber swim-suits
actually have a (1)______ degree of friction
against water, thus working against the
competitive (2)_________. A highly elastic,
but noncohesive (3)____ ____ like lycra would
instead help the swimmer to swim (4)______
without any danger of the suit soaking up the
(5)______.
75. Select the most appropriate option to fill

in blank No.(1)
(A) highest (B) high
(C) higher (D) more high

76. Select the most appropriate option to fill
in blank No.(2)
(A) fish (B) scientist
(C) person (D) swimmer

77. Select the most appropriate option to fill
in blank No.(3)
(A) garment (B) object
(C) material (D) matter

78. Select the most appropriate option to fill
in blank No.(4)
(A) faster (B) speedy
(C) hasty (D) quick

79. Select the most appropriate option to fill
in blank No. (5)
(A) water (B) rubber
(C) friction (D) lycra

80. Select the most appropriate word for the
given group of words.
An abnormal fear of water
(A) Cacophobia
(B) Hydrophobia
(C) Algophobia
(D) Pyrophobia

1. (B)

2. (A) 36 17 48 21

;

56 25 68 31

;

‘36, 17'

3. (B)

+ 4

(2)2

+ 6 + 8 + 10 + 12

4

(6)2

36

(12)2

144

(20)2

400

(30)2

900

(42)2

1764

4. (A) y zy / xzx/ yzy / xzx /y zy / xzx/ y
yxzyz 

5. (A) 

24    A    12    B    4    D    6    C   7

? = 24 12 × 4 + 6 – 7

= 24 × 
1

12
 × 4 + 6 – 7

= 8 + 6 – 7 = 14 – 7 = 7
6. (B)

108 (6 × 9) = 108 54 = 2
96 (4 × 3) = 96 12 = 8

35  (1 × 5) = 35 5 = 7

7. (D)  

(+)

8. (B) (B) 

9. (D)

&

10. (C) (C) 
AB 

11. (C)

‘9' ‘12' 
21 
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12. (B)

13. (A)

F 

14. (B)

(B) 

15. (C)

(C)

16. (C)

(C)
(C)

17. (B) II, V, III, IV, I, 

Creature – II
Credentials – V
Credible – III
Creditable – IV
Creditor – I

18. (D)

®  
®  ® ®

19. (B)

9 7 

20. (D) DICTIONARY 20
MOBILITY 16

2 
TERMINATION 11

× 2 = 22

21. (B)

22. (B)

23. (C) 1928 
22% 

1925 

24. (B)

1
266  

25. (A)

38°C 5°C 

26. (D) Vitamin A 
Vitamin B 
Vitamin C 
Vitamin K 

27. (B)

CO2 

28. (B)

29 (B)

-

30. (C)

NH4Cl 
31. (B)

30% 70%
90% 10%

88%, 10% 
2%

32. (B)



  |   7

33. (D) 1915 

1952 

34. (B)
1865 

1867 

35. (C)

36. (A) U 

U 

37. (C)

38. (B) 





 1954 

39. (B)
1765 -

40. (D) 52 

35 

USA 2 

41. (D) 3x 3y 

3x + 3y = 36
 x + y = 12 ...(1)

=
× 

3x × 3y = 3 × 105
 3xy = 105
 xy = 35 ...(2)

(1) 3xy 

3 3
x y
xy xy

 =
12
3xy


1 1

3 3y x
 =

4
xy

=
4

35 (2) 

42. (C) = 225 + 15 = ` 240
% = 300 – 240

= 60

 % =
60 100%
240



=
100 25%

4


43. (D) =
4
3  × 

=
4 750
3


= ` 1000

 % =
1000 – 750 100

1000


=
250 100

1000


= 25%
44. (A)  A 90% = B 30%


90A
100 =

30B
100

 3A = B
A : B = 1 : 3
B : A = 3 : 1

45. (A) 
= 80 + 85 – 75
= 90%

 = 10%
 10% = 40

 =
40 100
10



= 400

46. (C)  (A + B) 1 = .
x y
x y


=
10 12
10 12




=
22 11

120 60


(A + B) 4 

=
11 114
60 15

 

=
11 41 –
15 15



 C 15 = 1 

 C =
415

15


= 4 
47. (D) 

=

2 = (12)2 + (5)2

= 144 + 25 = 169

 = 169  = 13 

48. (B) = + 16·8
2r = 2r + 16·8

 2r ( – 1) = 16·8

 r =
16·8 16·8

2 2·143 4·286




= 2r

=
2 3·143 16·8

4·286
 

= 24·64 
49. (C) = 1 

 r =
2

1

A
– 1 100%

A
 

  
 

=
676 –1 100%
650

  
 

=
26 100

650
  = 4%

 A = P 1
100

nr  
 

 650 =
14P 1

100
  
 

 P =
650 25

26


 = ` 625

50. (A) 
= x 

30 2
2x

 =
30 – 1
x
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
30 30–

2x x = 2 + 1


60 – 30

2x = 3


30
2x = 3    x = 5 

51. (C) 0·25 2·25  =  0 ·5 × 1·5 = 0·75

52. (C) 
= n1w1 + n2w2
= 38 × 25 + 32 × 20
= 950 + 640
= 1590 

 =
1590

45  = 35·33 

53. (B) 10

=
10 9

5 5
–i i i i

i i
x n x n

 
 

= 6 × 50 – 5 × 54
= 300 – 270 = 30

54. (D) 8x 5x 
 = 260

2 (8x + 5x) = 260
26x = 260   x  = 10

 = 8x = 8 × 10 = 80 
55. (B)  200 1000

= 50 
 250 1000 

= 
50 250
200



 250 2000 

=
50
200


250

1000

2000  = 125 

56. (C) = 
2 3 2 9
3 2 3 15

   
 

5 5 4 2
4 2 5 3

   
 

 
3 3 4 3
4 4 3 4

   
 

BODMAS 

2 3 2 9 5 5 4 2
3 2 3 15 4 2 5 5

           
   

3 3 4 3
4 4 3 4

    
 

= 
2 9 5 5 81
3 15 4 2 25

         
   

3 3 1
4 4

   
 

= 
2 1 9 5 2 8 9 1
3 1 15 4 5 25 16 1
              
     

= 
2 9 1 8 9
3 15 2 25 16

       
   

= 
2 4 9
5 25 16

= 
2 4 9
5 25 16  = 

2 9
5 100
  = 

2 100
5 9


= 
40
9

57. (A) A B 
8x 9x 

9 

A = (8x + 9) 

B = (9x + 9) 

 
 
8 9 19
9 9 21

x
x





 168x + 189 = 171x + 171
 171x – 168x = 189 – 171
 3x = 18

 x = 
18
3  = 6 

 B = 9x = (9 × 6)

= 54 

C B 3 

C = (54 – 3) = 51 

58. (C) A, B C 

= 5 : 3 : 8

1 

= (5 + 3 + 8) = 16 

30 

= 16 × 30 = 480 

A B 1 
= (5 + 3) = 8 

A B 20 
= (8 × 20) = 160 

= (480 – 160)

= 320 

C 

C 1 

= 8 

C 

= 
320
8 = 40 

59. (A) a : b  = 2 : 5
 c : b  = 3 : 4
 b : c  = 4 : 3

a : b = 2  : 5  = 2 × 4 : 5 × 4
= 8  : 20

b  : c = 4 : 3 = 4 × 5 : 3 × 5 = 20 : 15
a  : b  :  c =  8 : 20 : 15

60. (A) 1
1
4  = (12 + 12 × 

1
4 ) 

= 15 

5 

= 8% 

= 
8 5

12 % 5 

= 3.3% 5 

= 
10
3 %  5 

= 8100
3101

300

= 8100
331

30

= 8100 × 
31 31 31
30 30 30

= ` 8937.30

= ` (8937.30 – 8100)
= ` 837.30
= ` 837

61. (A)






62. (A)

63. (C)
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64. (B)

65. (D)

66. (B)

67. (D)

1.
2.

68. (B)

69. (A)

70. (A)

71. (C)

72. (B)

(B) 
73. (C)

74. (B)

75. (A)

76. (B)

(B)
77. (D)

(D)
78. (C)

(C)
79. (D)

(D)

80. (B)

English
61. (B) ‘Discuss about the problem'  

‘discuss the problem' 
discuss sth with sb  

62. (D) Neglected (V3) 

63. (C) Slander (V) 
antonym admire (V)

Appeal 
Malign 

Defame 

64. (B) Mock (V)  

Synonym ‘Taunt'
65. (B) Repugnance (n) 

Spelling 
66. (C) ‘Pack' 

67. (B) Shot in the dark (IDM)  
(B)

68. (A) Studied when  'Studying
when Verb 'be'
+ V3 Passive Voice 

69. (C) ' To finish  Gerund  
infinitive 

70. (B) To feel sick or unhealthy (IDM) 

 (B)  
71. (C) World have seen' 'World

has seen'   'World'
singular subject  

72. (B) No more  any farther 

73. (B) 'OF' Whale of a
time (IDM) 

(B)  
74. (D) Superfluous 

75. (B) High (adj.) 
Degree Noun 

76. (D) Swimmer 
77. (C) Material 
78. (A) Faster 
79. (A) Water 
80. (B) Hydrophobia – 

Cacophobia – 
Algophobia – 

 Pyrophobia – 

••


